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Section One: Vocabulary Ve e )ou pod o,-o)T

1. Cocoa is not ................. to West Africa; it was brought to the region by
European chocolate companies.

1) subordinate 2) diverse 3) tentative 4) indigenous

2. When the graphic artist makes the ad, he will ................ the company’s logo
over the product’s image so both objects are visible.

1) superimpose 2) coincide 3) correspond 4) exploit

3. Little is known about who will ............ before the court’s three judges.

1) intervene 2) speculate 3) commit 4) testify

4. He ............ speaking before all the guests had arrived.

1) presumed 2) commenced 3) advocated 4) deviated

5. She became the first African-American woman to be .......... for best actress
in a drama since 1995.

1) confined 2) equated 3) nominated 4) invoked

6. Some companies are ............ to invest in clean energy projects because they
are unaware of the advantages.

1) ambiguous 2) ignorant 3) reluctant 4) inaccessible

7. Mr. Brown waited patiently, but his eyes .............. his anxiety.

1) revealed 2) evaporated 3) recovered 4) authorized

8. As a scientist, my natural ................... is to research and find answers to
questions.

1) resilience 2) inclination 3) allocation 4) circumstance

t.me/FastZaban cuisass; ols s sbowl ool KU UL

Sl gl

N — W (W

Do =
N B = [
® 3 o ;o




(03! 39 6750 9 0yl 53 Xy (9 5 P99 3 (2 ) N 9AT5 310 yew Sbiwsl (b 3901 A 09,5

9. Her younger sister died of a heart ........... 38 days after birth.
1) defect 2) trap 3) detection 4) scheme

10. To communicate accurately, students must understand the .................
differences between similar words.

1) inferior 2) nimble 3) appealing 4) subtle

11. Before making a bad decision, take some time and ................... the
consequences of your actions.

1) contemplate 2) distribute 3) compensate 4) expel

12. He should be pleased with the.............. of the meeting because we’ve taken
care of all his concerns.

1) interaction 2) outcome 3) exhibition 4) criterion

13. His poor performance during the NBA Finals led to his ............ from the
Olympic team.

1) transfer 2) exhaustion 3) exclusion 4) controversy
14. The company ............ her employment for testing positive for marijuana.
1) conflicted 2) accumulated 3) deduced 4) terminated

15. The new planet is unlikely to ............ life because it is too young and too
hot.

1) imply 2) locate 3) harbor 4) occupy

16. His ........... statement caused angry reactions from many human rights
groups.

1) provocative 2) identical 3) perspective 4) qualitative

17. Working or schooling at home has become ............... in 2020 due to the
global health crisis.

1) internal 2) commonplace

3) straightforward 4) neutral

18. Because Ana works out seven days a week and eats a healthy diet, she has
no ........... fat on her small frame.

1) surplus 2) virtual 3) manual 4) tense
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19. The articles was ............. by an introduction to world-wide communication
network.

1) published 2) dictated 3) assigned 4) preceded

20. The scientist hopes to ............. formula that will increase the efficiency of
solar cells.

1) restore 2) dissipate 3) manipulate 4) conceive

21. The bank is developing portable banking kiosks that can be used during
emergencies to ............... cash even when branches are closed.

1) persist 2) negotiate 3) dispense 4) elicit

22. The increased attention to racial issues ................... @ major change in
American attitudes towards race.

1) signifies 2) interprets 3) retains 4) infers

23. According to the witness, the thief ................ broke into the woman’s car.
1) densely 2) allegedly 3) divergently 4) explicitly

24. Australian Pound coins are now ............... and no longer in use.

1) minimal 2) permanent 3) valid 4) obsolete

25. The circulatory system carries blood around an animal’s body, providing
............. and oxygen to cells.
1) reservoir 2) evolution 3) nourishment 4) integrity
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Section Two: Structure Part One
Choose the one which best completes the following sentences.

26. One of the best ways to achieve your goails ............... to break them down
into manageable tasks.

1) are having 2) will have

3)is 4) are

27. Ellen Johnson ............. the Nobel peace prize for her non-violent efforts to
promote peace.

1) awarded 2) was awarding

3) was awarded 4) would be awarding

28. High blood pressure causes no symptoms, ............ it is @ major risk factor
for heart disease and stroke.

1) yet 2) for

3) so 4) nor

29. None of the boys were happy with their gifts, ........... ?

1) did they 2) were they

3) weren’t they 4) didn’t they

30. Terri was transported to a nearby hospital, where she ........... five days
recovering from her wounds.

1) had been spent 2) spends

3) will be spent 4) spent

31. A large asteroid will pass ........... close to our planet on March 5.

1) dangerous 2) dangerously

3) endanger 4) danger has
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32. 1t .., that a detailed agreement will be signed between the countries.
1) hopes 2) is hoped
3) hoped 4) will hope

33. We don’t accept them as a nuclear state despite the reality of ..............
having a nuclear capability.

1) them 2) theirs
3) they 4) their
34. The sun is an important source of renewable energy in less ........... regions.
1) develop 2) developmental
3) development 4) developed
35. Knowing she loved reading, ........... as a birthday gift.
1) a book was bought by Richard 2) a book has been bought
3) Richard bought her a book 4) it is to buy a book
36. Marry, a senior at Butler High School, excelled ........... French and planned
to make it her college major.
1)on 2) at
3)in 4) over
37. 1 had no clue what was happening and ........... anyone around me.
1) didn’t either 2) couldn’t either
3) neither had 4) neither did
38.............. politician has promised to make changes, but few have succeeded.
1) One of 2) None
3) Many a 4) Neither
39. The relationship of siblings in later life is among ............... carefully studied
of family relations and aging.
1) the least 2) the none
3) the worst 4) the lowest
Gls gl

32.2 36.3

33.4 37.4

34. 4 38.3

35.3 39.1




(03! 39 6550 9 0yl 53 Xy (9 5 P99 3 9 (2. ) N 9ART5 310 yew Sliwsl (b 3901 A 09,5

40. There is no use ............... that he will write no more novels like his early,
memorable short one.

1) regret 2) to regret

3) of being regretted 4) regretting

41. We followed his routine for 12 days until | finally convinced him ........... a
doctor.

1) seeing 2) to see

3) for seeing 4) see

42. They preferred that a private group such as the Red Cross, rather than the
(o] AT/ the shelters.

1) manages 2) manage
3) to manage 4) is managing
43. She handed ........... , Who began admiring it.
1) to her mother the toy 2) her mother of the toy
3) the toy for her mother 4) the toy to her mother
4. ............. for your kindness, I'd still be living in that tiny flat in the town
center.
1) Were it not 2) Were not it
3) ltisn’t 4) Was it
45. The weather was much better this year; .......... the orange crop is larger.
1) hence 2) as though
3) since 4) whereas
46. It is probable that bill will finally .............. into the Senate for action.
1) send 2) be sending
3) have been sent 4) be sent
47. We ....cccoecuvuenn the battlefield if we had been provided with bullets.
1) wouldn’t leave 2) hadn’t left
3) didn’t leave 4) wouldn’t have left
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48. Children will engage in and learn from such an activity, .................. they find
it enjoyable.

1) even if 2) provided that

3) so that 4) unless

49. Formation of a social network helps us organize our behavior, understand
others and ourselves, and ............ sense of tile world.

1) make 2) makes

3) while making 4) to make
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50. Apple is going to let the people who make products ............... what product
listeners actually like.

1) learning 2) learned

3) learns 4) learn
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